D1vISION WITH A REMAINDER II (H - SET 2)
DIVISION WITH -10 TO 10

Name:

Time:

Score:

1) 24466 = (—6) =
512) 31563 +4 =

513) — 31487 =7 =

5 T698 < (—6) =
515 —34396 = (—6) =
516) —15962 =+ 8 =

51 =27105 +4 =

59 —17705 + 5 =

719 —40593 + (=8) =
200 6087 + (—1) =
21 —3410 + 3 =

) —3082 + (—1) =
23 1312+ (—1) =
20 —18436 + (—4) =

25 —36308 + (—4) =

Mathematics: Division - Level 8 - Horizontal - Set 2
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19

25536 = (—8)

77456 + (—8)

46076 = (—6)

9900 = 2 =
—20940 + 3 =
10048 + (—3)

20249 = (—5)

—65452 + 10 =

—30836 + (—7)

20950 + 4 =
31142 + (—4)
30319 + 4 =
20178 = 7 =
—20466 + 4 =

14986 + 3 =
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